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1. (10%) BT Zi5a o 7 #2

d
&y = E,.7c+3y

2. (15%)8 T 7l nF 42
y' — 5y = 10e3%; y(0) = 2

3. (15%) A& F 3|4k 7 #2
y'+2y +y=15e*+25e™> y(0)=1,y'(0)=0

4. (15%) BT 7B n 12
x2y" + 5xy’ + 4y =0

(25—-3)e™5¢

5. (15%) %2 & F(S) = grmorgy, K () =2

6. (15%) A& T 3|44 nFH #2
du 0%u

"'é—t' = 3@, U(O, t) - 25; u(lolt) = 25: u(x, 0) =100

7. (15%) 3F A S22 30 B R B3 B XA T 7 IRiE 2 4 4 & F f74& Steady state
solution? %% » KA SR ER AT ?
A well stirred tank with tank volume 400-L initially contains 300 liters of solution in
which 90 kg of sugar has been dissolved. There are two streams connected to
tank,
(1) Input: 20 L solution/min, 0.1 kg sugar/L
(2) Output: 1/3 L solution/sec



